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= MHocmpaHHble 93bIKU — Hem UsMeHeHuU
= .CmpyKkmypbl U cooep)xaHus

=ﬁ.ymoqueHa opMyriuposka 3ad0aHusi 3
==yCMHoU Yacmu 3K3aMeHa.
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=-City living in the 21 century is
==stressful and offers no advantages.
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§What is your opinion”? Write 200 — 250
=>words.
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=-City living in the 21 st century /s
==stressful and offers no advantages.
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§What is your opinion”? Write 200 — 250
=>words.
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» City living: urban living, lifestyle
=+ 215t century: contemporary, modern.
nowadays

» stressful: oppressive
2 ¢ Offers: provides, supports
=* advantages: benefits, opportunities
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=-Nowadays there is an opinion that
2&? contemporary urban living might
=-be fairly oppressive for many
.jpeople and provides them with no
=-benefits. However, is it really so?
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=-Culture/entertainment: fo never be
=sbored, numerous entertainment &
Z:sports facilities.

§Shopping_: the diversity of shops &
=.different stores.

gEducation/jo_b: colleges, universities: an
Z.opportunity to get a good education,
':‘éthere are more chances to find a job.
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=-Noise/crowds: the population is
Egrowing, a lot of cars.

=-No greenery: not many green places to
:awalk & relax/

Transport traffic jams.

;;Fast pace of life: busy working days, to
=-feel pressurized, to travel to work &
=-back home.
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* One can use different facilities to
spend time after work or study
and get rid of stress ...

* People get used to noise and
crowds of people.
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=-* Introduction See ex. 2
2- Paragraph 2 My opinion

=3

==Topic sentence: In my opinion, living
== |n a modern city may give one a lot of
;: opportunities.

§Argument 1: education, job
== Argument 2: culture, entertainment
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=.* Paragraph 3 Other people’s
E opinion
=-Topic sentence: However, there are

=2

== people who believe that the lifestyle in

=3

== g contemporary mega city can be

=2

=2 oppressive due for the reasons.
=- Argument 1: face pace of life
aA_rgument 2: transport
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=-* Paragraph 4 Why | don’t agree with it
§Topic sentence: Personally, | cannot fully
== agree with these opinions.

= Argument 1: people get used to it, cannot
=. Imagine their lives without the hustle and
—. bustle of big cities; manage to find time for

=2

—. different activities beside work.

fj;Argument 2: most cities have developed
== excellent and affordable transport system,
=- taking all the stress of getting around.
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=.* Paragraph 5 Conclusion
ERestating my opinion
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* BBeaeHne — 50 cnos

=e OCHOBHas 4YacTb (BTOpou absal) — 80
CIioB

* OCHOBHas 4YacTb (TpeTun u
yeTBepTbIN ab3aubl) — 70 crnos

= 3aKnoyeHne — 50 cros
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z.BaxHo Hayunte CTPYKTYPUPOBATb
=-CBOE COUYMHEHWNE, UCMOoNb3yA

==COOTBETCTBYIOLLNE BBOAHbIE (hpasbl K
=7Knuwle
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=.Camoe crno)xHoe 3To HanumcaTb
=-BblCKa3blBaHWe 3a orpaHnYeHHoe
ngeMﬂ — 40-60 MuHyT. INoaTomy
:;Hy>|<Ho:

==1. npounTaTh 3aJaHne 1 onpeaenuTh
"“OCHOBHyro npobrnemy

:;2. ornpeaennTbCs Co CBOEN TOYKOM
=.3PEeHUA (Bbl «3a» UMK «MPOTUBY)
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==3. HAnUcaTb aprymeHThbl (2-3) n nx
=

=2000CHOBaHMe Ha YepHOBUKE

==4. OTpPa3uUTb pasnnyHble acneKTbl

==Npobnemsbl (coumarnbHble,
= 9KOHOMUYecKMne, MopasribHbIE)

=2

==5. pacKpbITb OOWH U3 acrnekToB bonee
= neTanbHoO

==6. NnucaTb crnegyert C YePHOBUKOM, HO
“*nep)xka B yme LabsrioH
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MuwuH A.B., 3aMmecTUTEeNb AUPEKTOpPa NO Hay4HO-
9KCnepuMeHTanbHOu U aHanUTU4YecKon pabore
MHoronpodgunbHon rumMHasum Ne 12 ropoaa Teepwu,
YUYUTESb aHITIMNCKOro A3blka — BebMHap «Kak Hanucatb
acce (MMCbMEHHOE BbiCKa3biBaHWE C arieMeHTamMu
paccy>XgeHusi) No aHrmMMNcKomy s3blky Ha 14 6annos?».

XomyHueesa E.A. «Russian State Exam. Tasks 39 — 40:
nocobuve Ond NoAroToBKU yYawmXcsl K BbIMOSTHEHUIO
3agaHun 39-40 pasgena «l1ucbmo» EI9 no
aHrnmnuckomy sa3biky.» - M.: SAO «PEJIO», 2015
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Bce, YTO HAM HYKHO,
y2K€ €CTh B HallIUX
roJioBax
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